Connecting to Visual Patterns Name

Period

For each pattern find the missing values in the table and create an equation for step n. Explain what
each piece of your equation means in terms of the visual patterns.
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Connecting to Visual Patterns

Name

:\_ Patterns 3

How many cubes lo build a space
house with 10 loors?

How many cubes 1o build a space
nouse with 100 lloors?

A space house with 1 lloor
takes 3 cubes 10 build.

A space house wilh 2 fioors
lakes 6 cubes to build.

A space house with 3 licors
takes 9 cubes to build,

Patterns 4

Floors Cubes
1 3
2 G
3 g
10
100
n

How many cubes lor the carports
when lhere are 10 cars?

How many cubes ler the carports
when there are 100 cars?

Period

1 blue car,
5 cubes lor
Ihe carport,

2 blue cars,
10 cubes for
the carports

J blue cars,
15 cubes for
the carports,

Cubes
Cars in Carporls
1 5
2 10
3 15
10
100




Connecting to Visual Patterns

Name Period
L {
Patterns 7 N Patterns 5
1 arch lakes 7 cubes
10 build.

A well with 1 layer takes
8 bricks.

2 arches lake 11 cubes
lo builg.

Awelwith 2 layers lakes
16 bricks.

3 arches lake 15 cubes

Awellwith 3 layers 1akes
1o build. 24 bricks.
Arches Cubes
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Connecting to Visual Patterns

How many cubes 1o build a chair 10
cubes lall?

How many cubes lo build a chair 100
cubes lall?

Name

Patterns 9

The chair 2 cgbes tall jakes
3 cubes lo build,

The chair 3 cubes tall takes
S cubes 1o build,

The chair 4 cubes tall lakes
7 cubes to build,

Heighi
of Chair Cubes
2 3
3 5
4 7
10
100
n

Patterns 10

How many cubes to build the
aparlmenl building 10 sfories tall?

How many cubes lo build the
aparlmenl building 100 slories {all?

The apartment building 2
stories tall takss 7 cubes
10 build,

The apartment building 3
stories tall takes 11 cubes
o build.

The apartmenl tuilding 4
slories fall lakes 15 cubes
lo build.

Period

Slories Cubes
2 7
3 1
4 5
10
100




Connecting to Visual Patterns Name Period

. Patterns 11 Patterns 12
Tne shonping plaza with The 1si staircase lakes
lowers 3 slories lall takes 11 1 cube o buid.
cubes to build.

The shopping plaza with '
lowers 4 stories tall jakes 16 l ;I'he.2nc.j slaircase lakes
cuLes to build. cubes to buld.

[

The 3ru siaircase takes
9 cubes 10 build,

Y

The shcpping plaza with
1owers 5 slories lall lakes 21
cubes lo buiid,

T 7
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shopping plaza with towers 10 3 11
stories 1all? How many cubes to build the 100Ih staircase? sl !
4 16 2nd il
How many cubes 1o build the 5 21 3rd
shopping plaza with towers 100
storigs tall?
10 10th
100 100Ih




